
! 
i 
I . 

No. of Questions : 50 
No. of Printed Pages: ·16 

2018 '~.P 
~,v.r,..-:-. 

Secretary AH/OS 1st 
Roll No ................ ; .......................... . 

Booklet SI. No. : . ~ ...... ...... .... ..... ... ..... . 

Time .: 1 hour 15 MinuJes SET : I c I 1'/fl.fl, : 1 fJ~/ 15 Ri?O: 
Full Marks : 50 ei,ef f1°6f'll : 50 

' ' 

(REG. - 2018 /EX-REG. - 2014 COURSE) 

C
' 

' 

.SET · 
~Q1R:lleJ16il' ~916~ ~9hll 

INSTRUCTION TO CANDIDATES 

''<12 ~~€!~ ~~~16Q soG1 9~~~~ @G1b1YJ.~{ii\ ~~ · O~l.€llful~ I ~6b'4~ ~~Q @G1Q 'OMR 

006Q ei91 ~60~1~~16Q 6Q91 ~19~4~ I ... ' 

this Question-Booklet contains 50 multiple choice questions. The candidates are . 
re uired to answer the uestions as per the instructions iven in the OMR sheet. 

AR/AXR-lS-MTH/OS-07-MT-I II llllllllllllllllllllllllll 



SET :[9 
Qfl£1. : · 1 f,;J~I 15 ?i§~ 

Time : 1 Hour 15 Minutes 

;, 

ARI AXR-15-MTH/OS-07-MT-I 

q_'li Q0~lf I : 50 

.Full Marks : 50 

22 ~ ( 22) 
1t Q Yl_QY 7 0CJ Take 7t as 7 -

'<12 9QIG16Q so§ ~~ Q~l~I~~ I ~6b'%' ~~ 81~"' ~16QI§ 9~~ @GlQ o'C'.11~1~~ I 6~el 
91~4bJ. O~ @GlQ§ ~I~ OMR @GlQ 006Q ei~I ~0€1"~ ~"61§~ ~1g/~g1 ~~€1'<1~ ~fii\91 

. ~IQ.I ~9l_~Ql6~ ~1g/~g1 ~Q I 

In this Part 50 questions are given. Each question has four alternative answers. Choose thi 
correct answer from them and darken the appropriate circle completely in the OMR sheet · 

the Blµe/Black ball point pen. " · • .. 

gSO%l 91\18 "Yl_QY 1 ('<Ill) llYJQ I ,( ~ V 
Each question carries 1 (one)

1

m. ark ... O 'f" ~ 
~91~ 'Q~Q @GlQ QCJ o~ ~ 

Answer all questions. . . . 

1. '5J21Yl 5 <ii 6Yll~Q «l0~41Q Yl~Yll, . ow much less is the median of the 

2. 

'5J21Yl 6 ~ 6¢ilQQ «J 0~41Q Yl~YllOl«i first 5 prime numbers than . the 
median of the fi rst_6 prime numbers? 

6Q6'(;1 QYI,? 

(f-) 2 
(G) l 

Yll~Yll<cl' 8 626~. x ~6'(;1 ? 

(A) (B) l 

(C) 2 (~ 3 

12 Q gQ~Q ,6Q6'(;1 ? 

(A) 11 (B) 8 
(~· 9 (D) 10 

2. 

(A) 2 

(C) 1 

(B) 0.5 

(D) 1.5 

-
Ifthe mean of x, x + 2, x + 4, x + 6, 
x + 8 and x + I 0 is 8, then what is x ? 

(A)' ' 4 

(C) 2 

(B) 

(D) 3 

3. What is the mode of 5, 6, 7, 7, 8, 8, 9, 
9, 9, 9, 10, 11, 12, 12? 

(A) 11 (8) 8 

(C) 9 (D) 10 

Q€f ~Q~I &JI~ I SPACE FOR ROUGH WORK 
' 

2 Contd. 



AR/AXR-15-MTH/OS-07-MT-I 

4, (5, -3), (5, 4) '<]QO (X,. 0) Q~Q 

'<JQ6Q'611 6l?6Q, x Q ~l<;i' 6Q69? 

5. 

6. 

(A) 5 

(C) 4 

(B) -3 
(S ) 0 

(1, - 2) (3 {-3, - 5) Q~1j'Q ~~6Q 

~Q916Q69? 

(A) 5 

(C) 3 

(B) 2 

(D) 4 

(1, 5) (3 (7,' 2) Q~1j'QQ Q0b~lgQ 
..< 

6Q'611'61@~ 1 : 2 ~~'tll96Q ~~QQlg<;i' 

Q~(>)Ql Q'l_Q ~l<n'l~ 6Q69 ? 

(A) (5, 2) 

(B) (3, 4) 

(C) (4, 3) 

(D) (2, 5) 

7. ~Q~ ~I~ '<JQ . Q6g" ~<;(l_ QE;Q, 

~§Q~,6Q 6Ql~'<l T <'JIOOIQ QHIQY91 

6Q69? 

3 
(A) 4 

1 
(B) 3 

2 
(C) 3 

1 
(9) 4 

SET: .@] 

4. If the three points (5 , -3), (5 , 4) and 
(x, 0) lie in one line, then what is the 
value of x? 

(A) 5 

(C) 4 

(B) . - 3 

(D) 0 

5. What is the di stance between the two 
points (1, -2) and (- 3, ~5)? 

(A) 5 (B) 2 

(C) 3 (D) 4 

6. What are the co-ordinates of the 
point that divides the line segment 
joining the points (1 , 5) and (7, 2) 
internally in the ratio 1 : 2 ? 

(A) (5 , 2) 

(B) (3 , 4) 

(C) (4, 3) 

(D) (2, 5) 

7. If two corns are tossed 
simultaneously, what is . the 
probability of getting at least one 
T? 

3 
(A) 4 

1 
(B) 3 

2 
(C) 3 

1 
(IV) 4 

Qq' ~Q~I ~I~ I SPACE FOR ROUGH WORK 

3 P.T.O. 



:_s~:r. : ~ 1 >er I 
8. qQ~ ~~6QI~~ . e.t6Q Q~IQ6Q, 

6QI~ qQ~6Q ~~eJQI Q0i1~'1qQ~Q 
QY!ij 9 62QIQ QQIQ~9 1 6Q69 ? 

9. 

10. 

1 
(A:) 9 

1 
(B) 5 

1 
(C) 6 

1 
(D) 8 

Q2 . QY11QQS1 x + y = 2 ~ x - y = 0 

6Q~'ij'QQ 6~QQ'l_Q ·~1g1~ 6Q69 ? 

(A) (1 , - 1) 

(B) (2, 0) 

(C) (0, 2) 

(h>) (1 , l) 

Q~Qf1g1~ I~ ~ I Q YJ._Q~ 6Q69 ? 

(~) ad + be 

(B) ab - cd 

(G) ad - be 

(B) ab + cd 

AR/AX.R-15-MTH/OS.i.07-MT-I 

s~ · · ;,- If tw9 ludo-dice are thrown once, 

then what is the probability of getting 

9 as the sum of the two numbers 

shown by both the dice ? 

9. 

10. 

1 
(A) 9 

(B) S 
1 

(C) 6 

1 
(D) 8 . 

What are the co-ordinates of the 
point of intersection of the graphs of 
the simultaneous equations ·x + y = 2 
and x -: y = 0 ? 

(~) (1 , - 1) 

(B) (2, 0) 

(C) (0, 2) 

(D) (1 , 1) 

What is the value of the determinant 

I~ c I ') d . 

(A) ad + be 

(B) ab - cd 

(C) ad - be 

(D) ab + cd 

Q€f ~~~I iJI~ I SPACE FOR ROUGH WORK 

4 Contd. 
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11. E)QQ Q2- QYl1QQ61 E>fll~Q ~g~% 

QYllCJlg QQQ ? 

(A) 2x - y + 3 = 0, -4x + 2y - 6 = 0 

(~ x + y + l = ~ x- y + l = O 

(C) x + y + 2 = 0, x + y + 3 = 0 
(D) 2x ___:_ y + 3 = 0, - 6x + 3y + 5 = 0 

'SET : ~[QJ 
11.. WJ;ii.ch pair of the simultaneous 

equations, have unique solution ? 

(A) 2x - y + 3 = 0, -4x + 2y - 6 ~ 0 

(B) x + y + 1 = 0, x - y + 1 = 0 

(C) x + y + 2 = 0, x + y + 3 = 0 

(D) 2x ~ y + 3 = 0, - 6x + 3y. + 5 = O 

12. ABCD ~IQ~~~Q AB = (3x + y)E><a.~., 12. 

BC = (3x + 2) E><a.~., CD = .(3y - 2x) 

E>Q.~ . (3 DA = (y + 3) E><a.~. I '<121Q 
- ~ < - < - \:I 

g~ QliQ E>QQY gEUQ QQQI rnQ 

~IQ~YQ <42- QYl1QQ61 'CiQ~ Q'<I ? 

(A) '<I QYI~ 

. ~ (B) 3x + y = 3y - 2x,3x + 2 = y + 3 

. , ; ( C) 3x + y = 3x + 2, 3 y - 2x = y + 3 

~ (D) 3x + y = y + 3, 3x + 2 = 3y - 2» 

13. g~Q E>QQ Q'l_~ 3x - y = 1 QYl1 

E)Q~ ~~E)Q ~Q~~ 't6~? --

~ (2, 5) (B) (0, 1) 

(~) (0,1) (D) (I,) 
• • 

14.- flQ a ~o ~'<l, g~Q Y!q,J'i E>QQ~ x Q 

b . 2 
ax+ -'- = 2x 

x 

(C) · x (ax - i)(bx - 2) = 6 

? b 
(D) ax-+ - = 2 

x2 

3 ' + y = 3x + 2, 3y -:-- 2x = y + 3 

3x + y = y + 3, 3x + 2 = 3y - 2x 

Which of the following points does 
not lie on the graph of the equation 
3x -:- y ~ 1 ? -
(A) (2, 5) (B) (0, - 1) 
(C) (0, 1) (D) (1, 2) 

14. If a -:;:. 0, then which on8- of the 
following is a quadratic equation in 
x? 

(A) 
b . 

ax + - + c = O 
x 

b 
(B) ax + ~ = 2x2 

(C) x(ax - l)(bx - 2) = 6 

(D) 

Qq' ~Q~I ~I~ I SPACE FOR ROUGH WORK 

5 P.T:O. 
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,SET : [g 
15. 4.x2 + kx + 3 = 0 Q911QQ($1Q q_~~Q 

Ql~Q (3 Q9Jlg 626Q, k Q 911g 6Q69? 

3 
(A) +­- 4 

((() ± 4-)3 

4 
(B) ± : h 

\13 
4 

(D ) ±3 

16. -{>; + x --6 = 0 ([ ~Q ~Q 19 Q911QQ616Q 

'5]Ql'81 QE;Q, 6Q69 62Q? 

(A) x2 - 12x + 36 = 0 
? . 

(B) x- - 13x + 36 = 0 

(C) x2 + 13x + 36 = 0 

(D) x2 + 12x + 36 = 0 

17. x2 + 3x + 4 = 0 Q911QQ61Q q_~~Q 

a (3 ~ 626Q, a 2 + ~2 Q 911g 6Q69 ? 

' (A) 0 (Ii ) - 1 

(C) 2 ~ 1 

18. x (3 7 91~Q~1 Q911'@Q 91~Q~ 9 

626Q, x 6Q69 62Q ? 

(A) 12 (B) 9 

(C) 10 (D) 11 

19. ~Q Q91 1'@Q cyg§E)Q tn = 2n - 1, 

626Q, Sn 6Q69 6'i!Q ? 

(A) n2 

(C) n2 - 1 

(B) · n(n 
2
+ 1) 

(D) n2 + 1 

AR/ AXR-15-MTH/OS-07-MT-I 

15. The roots of the equation 4x2 + kx + 3 = O 
are real and equal. What is the value 

. ofk ? 

3 
(A) ±4 

(G) ± 4-)} 

4 
(B) ±-)} 

4 
(D) ±3 

16. If -{>; + x - 6 = 0 is expressed as a 
quadratic equation, then what will it 
be? 

(A) x2 - 12x + 36 = 0 

(B) x2 - 13x + 36 = 0 

(C) x2 + 13x + 36 = 0 

(D) x2 + l 2x + 36 = 0 

17. If a and ~ are the roots of the 
equation x2 + 3x + 4 = 0, then what is 
the value of a 2 + ~2 ? 

(A) 0 (B) - 1 

(C) 2 (D) 1 

18. If the arithmetic mean between x and 
7 is 9, then what is x? 

(A) 12 

(C) 10 

(B) 9 · 

(0) 11 

19. In an arithmetic progression, if 
tn = 2n - 1, then what is Sn? 

(A) n2 • 

(C) n2 - 1 

(B) n(n 
2
+ 1) 

(D) n2 + 1 

bl.€f ~§~I ~I~ I SPACE FOR ROUGH WORK 

6 Contd, 



AR/ AXR-15-MTH/OS-07-MT-I SET:~ 
20. '<JQ A.P.Q ge.10 8Q 100 (3 «JICJIQ61 • 20. In an A.P: , the first term is 100 and 

~~Q -I' 626Q, I 00 Xi0 8Q~ 6Q6Xi ? . common: difference is - 1 . Then what 
is the 1 ooth term ? 

(A) -2 (8) -1 (A) - 2 (B) - 1 
(€) 1 (D) 2 (C) 1 (D) 2 

21. 6<011~'<1 A.P.Q t7 = 20 (3 t18 = 42 21. In an A.P., t7 = 20 and t18 = 42. Then 

626Q, «JICJIQ61 ~~Q d 6Q6Xi? what is the common difference ? 

(A) 8 (8) 2 (A) 8 (B) 2 

(C) 3 (D) 4 (C) 3 . (D) 4 

.22. 6<011~'<1 ~~ 6<011~~ e.J6Q Q~IQ6Q, 22. If a ludo-die is rolle.d once, then what 

g>~ 5 QI XilOI~ Q0, 62QIQ QQIQ4Xil is the probability of getting 5 or less 

6Q6Xi ? than that ? 

6 2 6 2 
(A) - (B) -

(~) - (B) - 6 3 6 3 
3 5 3 5 

(C) (~) - (C) . 6 (D) 6 6 6 

23: 6<011~'<1 ~~6<011~~ 2.16Q Q~IQ 23. When a ludo-die is thrown once, 

b~~Q QI 6xi"lQQ 621Q g ~QI 
what is the probability of getting the 
number which is neither prime nor 

Q0 'd141 rnQQIQ c;(}Q[Q4t'I 6Q6Xi ? composite ? 
1 (B) 

1 
(A) 0 (B) - (A) 0 -

6 6 

2 3 2 3 
(~) - (D) - (C) - (D) 

6 6 6 6 

24. 5, 8, 3, 7, 11, 27 '<JQ0 16 '<J§ ·Q~CJI~ 24. What is the median of the scores 5, 8, 

<oJ..~QQ 0~01 6Q6Xi ? 3, 7, 11 , 27, and 16 ? 

(A) 7 (B) lo (A) 7 (B) 10 

(C) .9 (~) 8 (C) 9 (D) 8 

25. 60 ~ Q0, 621Q~QI 9 Q «10'!1 <oJ..~XiQ 25. What is the median of all multiples 

01Q~Q 0~01 6Q6Xi ? of 9 below 60 ? 

(~) 31.5 (Q) 27.5 
(A) 31.5 (B) 27.5 

(C) 29 (D) 30 (C) 29 (D) 30 

bl£!' <ii'Q~I ~I~ I SPACE FOR ROUGH WORK 

I 7 P~T.O. 
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SE-T :. -Cf] .~, ARI AXR-l 5-MTH/OS-07-MT-I '-J • ., n l ,. 
•., _._ ' 

26. 'iQ~ '<]Q 6Q§Q ~@ 0~cqi_ Q@ ~@£) 
' 26 . . In two concentric circles, a chord AB 

} \ , . ~ 
of the bigger . circle touches '<JQ 9YI AB Qlg ~@~ P Q'1.6£1 Q'5i the 

Q6£1 I ~@ ·1j'£!'01QYIQI~. 10 6«1Jt (3 
smaller circle at the point P. If the 
radii of two circles are 10 cm and 

6 6Q.~. 626Q, AB £1 6QQY 6Q6~ 6 cm, then what is the length of 

6Q .~. ? AB incm? 

(A) 24 (B) 8 (A) 24 (B) 8 

l~) 16 (D) 20 (C) 16 (D) 20 

27. sin 15° +cos 105° £1 ~lg 6Q6Xi ? 27. What is the value of sin 15° + cos 105° ? 

(A) 
·Ji 

(B) -:- 1 (A) ii (B) - 1 
2 2 

1 (D) 
1 

(G) 0 (D) (C) 0 -- 2 2 

28. cot 12° · cot 38° · cot 45° · cot 52° · 28. What is the value of cot 12° · cot 38° 
cot 78° g mg 6Q6Xi ? , cot 45° · cot 52° · cot 78° ? 

. 1 1 
(A) 0 ·· (Ji) (A) 0 (B) 

1 0 1 
(C) 0 (D) {2 

(C) (D) {2 

29. cosec2 (140° + a) - cot2 (40° - a) £) 29. What is the value.of . 

~1g 6Q6Xi ? cosec2 ( 140° + a) - cot2 ( 40° - a) ? 

(A) {2 (A) {2 (B) - 1 
(B) - 1 (C) 0 (D) 1 

{C) 0 (1') 1 
cot 32° · cot 13° :.__ 1 · 30. What IS the . value of 

30. . cot 13° + cot 32° g ~fg E)QE)Xi ? cot32°· cot13° -1? 

1 cot 13° + cot 32° 
(A) {2 (B) 0 1 

(A) {2 (B) 0 
(Q) 1 (D) . - 1 

(C) 1 (D) - 1 
31. sin (30° + A) + sin (30° - A) £1 ~QY 31. What is the value of 

6Q6Xi? sin (30° +A) + sin (30° - A) ? 

(A) cos 30°. (B) sin A (A) .cos 30° (B) sin A 
(C) cos A (D) sin 30° (C) cos A (D) sin 30° 

l • £1£! (iilQ~I ~lh' I SPACE FOR ROUGH WORK 

I. 
J. 
I 
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32. 9 6'<1.~. QYl'<ll~ Q~~ E)Ql~'<I §Qt 

cHW 6QIQQ~ ~QQIQ 3 6Q.~. 
. < -- - -
QYIQI~ Q'51~ gQI 6QIQQE)Q 8Q61~ 

QE>Q, QQICJQ E>GE>~I~ 6QIQG ~~Q? 

(A) 27 (B) 3 

(C) 9 (D) 18 

33. 6Ql~'<I ~QQQIQ Q41QI~ 7 6Q.~. (3 

~ 2 ~ 
6Q~1Q 6Ql61Q C(]QYl161 7 6Q~Q1g 

. < 

. 62E>Q, '<121Q E>~~'J'Q 6G6~ QCO'i 

6Q.~. 62Q? 

(A) 49 

(G) 14 

(A) 

(C) 

(B) 7 

(D) 35 

< < ~ 

rn~q~Q 6~~~Q 6G6~ QQ 6Q. YI. ? 

(A) 80 (B) 480 

(@) 240 (D) 16o{j 

32 . . 

. 33. 

SET .::j 't -1 · 
What · is . the 'ffiaximum number of 
solid spheres of radius 3 cm that can 
'Be ' made by melting and recasting a 
solid metallic sphere of radius 9 cm ? 

(A) 27 

(C) 9 

(B) 3 

(D) 18 

7 

(D) 35 

The height of a cylinder is double of its 

diameter and its volume is 539 cu. cm. 

What is the diameter of its base in 

cm ? 

(A) 3.5 

(C) 10.5 

(B) 14 

(D) 7 

35. The base of a . right prism of height 
10 cm is an equilateral triangle. The 
base area of it is 16-{3 sq. cm. What 
is the lateral surface area of the prism 
in sq. cm? 

(A) 80 

(C) 240 

(B) 480 

(D) . 16o{j 

Q€f Gi'Q91 ~I~ I SPACE FOR ROUGH WORK 

9 P.T.O. 



SET: [QJ 
36. ~@~~6Q, ~GHK ~ ~PQR I gY)YJ 

6QQ CJ~rng~ OH : PQ '<12 QYll~ 
"' 't1_Eii' ? 

HLKQ~R 
(A) ~GHK Q 8§Q1Yll : ~PQR Q 

8§Ql1Yll 

(B) HK ~§ Yl~YllQ 6QQ~ : QR 

~§ Yl~YllQ 6QQ4 

(C) ~GHK Q LH Q QYl~~MlQQ 
...., < 

6QQ4 : ~PQR Q LQ Q 

QYl~~~QQ 6QQ4 

(D) GK ~§ ~GHK Q QQgl : PQ 

~§ ~PQR Q Q9gl 

~ ~ ~ 

37. ~@ ~~6Q (>JQI &QR6Q, XY II PQ I 

PM : PR = 2 : 5 '<JQ0 QN = 4 6'<1.?l. 

626Q, NR 6Q6g 6'<1.?l.? 

p 

Q R 

y 

(A) 5 (B) 10 

(C) 8 (D) 6 

AR/AXR-15-MTH/OS-07-MT-I 

36. In the given figure, ~GHK ~ ~PQR; 
which of the following ratios is not 
equal to OH : PQ ? 

HLKQ~R 
(A) Perimeter of ~GHK : perimeter 

of ~PQR 

(B) Length of the median drawn to 

HK : length of the median 

drawn to QR . 

(C) Length of the bisector of LH of 
~GHK : length of the bisector 
of LQ of ~PQR 

(D) Height of ~GHK on GK 

height of ~PQR on PQ 

~~ 

37. In ~PQR of the given figure, XY II PQ . 

If PM : PR = 2 : 5 and QN = 4 cm, 
-

then how much is NR in cm ? 
p 

Q R 

y 

(A) 5 (B) 10 

(C) 8 (D) 6 

Q£f {il'Q~I ~I~ I SPACE FOR ROUGH WORK 

10 Contd. 
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38. ~ABC 6Q AD (3 BE fl2J1§1691 BC (3 

AC QIS{Yllgg> 'S]~ QA. '<IQ0 AD (3 

BE Q 6~QQ~ P 626Q, ~APE 6QQ 

. g~~ «12 «1~'51 ? 
A 

B..__~_._._~~~~~~c 

D . 
(-0\) .!\BPD (B) ~BOA 

(C) MBE (D) ~ADC 

39. Q~ ~g6Q, PS, LQPR Q QYl~~~Q 

~6~ I ~PQS (3 ~PSR Q 6~gt:r~Q 

~~819 6Q6~ ? 

(A) 

(C) 

40. MB I ~ABCQ 8QQ1911 

60 6 .?i. 6~gt:l'~ 81 QQ 6«1.?i. I 

Q Q 8QQ1911 80 6«1.?i. 626Q, 
< ~ 

6~gt:l'~ 6Q69 QQ 6«1.91.? 

(A~ 144 (B) 96 
(C) 108 (D) 126 

SET:~ 

38. In MBC, AD and BE are the 

perpendiculars to the sides BC and 

AC respectively. If P is the point of 
I - · 

intersection of AD and BE , then 
which triangle is similar to ~APE ? 

A 

PS:QR 

40. .!\ABC ~- .!\PQR. Perimeter .!\ABC is 
60 cm and its area is 81 sq. cm. If the 

perimeter of ~PQR is 80 cm, then 
what is its area in sq. cm.? 

(A) 144 

(C) 108 

(B) 96 

(D) 126 

Q£f fii'Q~I ~I~ I SPACE FOR ROUGH WORK ' . . 

l1 P.T.O. 
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SET: la 
- ~- ___L_•,., 

41. QQ ~~6Q mLABC = 90°, BD)- AC, 

BC == 12 6Q·.?i ., CD = 9 6Q.?i. 

€~€Q, AD€~€~ €'<1.0..? 

B c 
(A) 9\[2 
(B) 7'12 
(G) 7 

(D) 9 

42. 6Ql?i1'<1 6Q~I~~ AB ~'<IQ Q~IQI~ 
< ~ 

~6~ 6~Q QQl~Q 6Q6~1~ ~Q 

CJ~~ QQl£11Q81QQ ? 

(A) 4 

(B;) 1 

(C) 2 

(D) 3 

43. 6Ql?i1'<1 ~QQ Q~IQ 26 6Q.?i. I ~QQ 

6Q~C?I.~ '<IQ . g~IQ ~Q~I 5 6Q.?i . 

626Q, ~.~ g~IQ 6QQ~ 6Q6~ 6~.?l'_ ? 

(A) 12 

(B) 24 

(C) 18 

(D) -{651 

. ' 

, ARI A.xR'J1~s:..l\lTH./os:o1-M'T-1 
, 

4'£ f lu- the given figure, mLABC = 90°, 
- -
BD 1- AC. IfBC = 12 cm, CD = 9 cm, 
then what is AD in .cm ? 

A 

B 
c 

(A) 9'12 
(B) 7'12 

(C) . 7 

(D) 9 

42. In the maximum, how many circles 
can be dr~wn taking a line-segment 
AB as a radius ? 

(A) 4 

(B) 1 

(C) 2 

(D) 3 

43. The diameter of a circle is 26 cm. If 
the distance of a chord of the circle 
from its centre 1s 5 cm, then what is 
the, length of the chord in cm ? 

(A) 12 

(B) 24 

(C) 18 

(0) #I 
Q~ {ii'Q91 ~I~ I SPACEFORROUGHWORK ' . 

12 .Contd . 
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ARI A.XR-15.-l\f~Ht9.~)07-~l'."I 

- < 44. . ABCD "JQ ~Ql~Q~~ . 9qqg ..q~0t-

X (3 Y "l2 ~Q QOQ~ ~Q~ Q~ I 

mBXA = 55° <3 mAYD = 75° 626Q, 

mLBCD6Q6~ ? 

D 

c 
(A) 13.0° 

(B) 
10 

27-
2 

(C) 
10 

37-

;b (D 
2 

65° ·~1: ) 

45. ~@ ~~6Q, ~@ ABP Q 6Q.§' 0, AB 

"JQ gtjl "J'Ql" OP .l..AB I OP C3ABQ 6W 

Qq D, AB = 16 6Q.?1., OD = 6 6Q.?1. 

626Q, DP 6Q6~ 6Q.?1.? 

(:\. 
~ 

(A) 10 
(B) 4 

(C) 6 
(D) 8 · 

p 

SET: ca 
44. ~CD is a cyclic quadrilateral and 

1
" --X, iy are two points on the circle. If 

----- -----mBXA = 55° and mAYD = 75°, then 
what is mLBCD ? 

A 

D 

c 
(A) 130° 

(B) 
l o 

27-
2 

(C) 
l o 

37-
2 

(D) 65° 

45. In the given figure, 0 is the centre of 

the circle ABP and AB is a chord. 

OP .l.. AB and OP intersects AB at 
. D. If AB = 16 cm and OD = 6 cm, 

then what is the length of DP in cm ? G\. -

(A) 10 
(B) 4 
(C) 6 
(D) 8 

p 

Qq' ~Q~I ii~ I SPACE FOR ROUGH WORK 

13 P.T.O. 



SET :(£] 

46. ~@ ~~6Q, PQR <Q!@Q 6Q~ 0 "<1<Ql0 S 

62Q~ QR ~ '<IQ C?JS8'6J Q'i, I 

mL QPR = 30° 626Q, ~QsR 6Q6ti? 

(A) 75° 

(C) 45° 

R 

(B) 30° 

(D) 60° 

< ~ ~ ~ · 

VJ<t>IQ I PS (3 QR Q 6~~Q'i, S 

PR2 ' ~ "'~ 
626Q, PQ2 ~'if g~'61 6Q'i$!~ ~YJlg ? 

(A) 
QR2 

QS2 

RS 
(B) 

QS 

~ (C) QS 

RS2 
(D) QR2 

AR/ AXR-15-MTH/OS-07-MT-I 

46. In the given figure, 0 is the centre of 
the circle PQR and S is a point in the 

----interior of QR . If ·mLQPR = 30°, 

----then what is mQSR ? 

(A) 75° 
(C) 45° 

R 
(B) 30° 
(D) 60° 

~ 

47. In the given figure, PS is the tangent 
~ 

at P of the circle PQR. If QR and 
.~ 

PS intersect at S, which of the 

c 11 . . l PR2 
io owmg is equa to PQ2 ? 

QR2 
(A) QS2 

RS 
(B) -

QS 

~ (C) QS 

RS2 
(D) QR2 

b1£f £il'Q~I ~I~ I SPACE FOR ROUGH WORK 

14 Contd. 
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- ~ - -48. Q@ ~~6Q PQ 62'@~ XYZ ~@ !J~ 

X Q~6Q Q~Q I . miiY = 220° -, 

626Q, mL PXY 6Q6~? 

p 
(A) 100° 
(C) 220° 

x Q 
(B) 330° 
(B) 110° 

49. 6Ql~'<l ~@Q 6Q.§IOl<ci ~@Q Q2~ '<JQ 

Q~p Q ~Q~I 10 6Q.?l. IP Ol<ci ~@ 

!J§ (j§~ Q~~'rll~Q 6QQY 6 6Q.?l. 

626Q, ~@Q QYIQ 6Q6~ 6Q.?l. 62Q? 
(A) 16 - (B) 6 
(C) 8 (D) 12 

50. Q@§~6Q MBC Q (j~S~@ PQR 

MBC Q AB, BC (3 AC ~ PQR ~@ 

£le.Jl§'60 P, Q (3 R Q~6Q Q~ Q6Q I 

BQ = 8 6Q.?l., CQ = 6 6Q.?l . '<JQ0 

MBC Q ~QQ101 36 6Q.?l. 626Q, 

AB Q 6QQY 6Q6~ 6«1.?l. ? 
A 

LU· 
B Q c 

(A) 14 (B) 8 
(C} 10 (D) 12 

SET :[g 
~ 

48. In the given figure, PQ is the 
tangent to the circle XYZ at X. If 

I --mXZY = 220°, how much is 

p x Q 
(A) 100° · (B) 330° 
(C) 220° (D) 110° 

49. The distance of an external point P _of a 
circle from its ·centre 10 cm and the 
length of the tangent-segment drawn 
from P to the circle is 6 cm. What is the 
length of the diameter in cm ? 
(A) 16 (B) 6 
(C) 8 (D) 12 

· 50. In the given figure, PQR is the 

incfrcle of ~ABC and AB, BC and 

AC touch the circle at P, Q and R 

respectively. If BQ = 8 cm, CQ = 6 cm 

and the perimeter of ~ABC is 3.6 cm, 

then what is the length of AB in cm ? 
A . 

LU 
B 

(A) 14 

(C) 10 

Q . c 
(B) 8 

(D) 12 

b\€f ~Q~I ~I~ I SPACE FOR ROUGH WORK 

15 P.T.O . . 
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